
 

  

  

 
TN590−7N

TN590−1N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A
F=A1(F3’/F3+F4’/F4) 

A11=176.0
A21=−2.57
A31=1.0
A41=0.33

TN590−2N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

PO 0,1s A
F=A1(F3’/F3+F4’/F4) 

A11=170.9
A21=−2.49
A31=1.0
A41=0.33

TN590−3N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

BM 0,1s A
F=A1(F3’/F3+F4’/F4) 

A11=194.0
A21=−2.67
A31=1.0
A41=0.33

TN590−4N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A
F=A1(F3’/F3+F4’/F4) 

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

TN590−5N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s Y
F=A1(F3’/F3+F4’/F4) 

A11=139.8
A21=−2.36
A31=1.0
A41=0.33

TN590−6N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s Y
F=A1(F3’/F3+F4’/F4) 

A11=177.9
A21=−2.46
A31=1.0
A41=0.33

TN590−7N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

PO 0,1s B
F=A1(F3’/F3+F4’/F4) 

A11=112.8
A21=−2.05
A31=1.0
A41=0.33

TN590−8N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s B
F=A1(F3’/F3+F4’/F4) 

A11=50.05
A21=−1.85
A31=1.0
A41=0.33

TN591−1N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

BM 0,1s R
F=A1(F3’/F3+F4’/F4) 

A11=106.8
A21=−1.94
A31=1.0
A41=0.33

TN591−2N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s R
F=A1(F3’/F3+F4’/F4) 

A11=111.5
A21=−1.84
A31=1.0
A41=0.33

TN591−3N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s G
F=A1(F3’/F3+F4’/F4) 

A11=68.25
A21=−2.15
A31=1.0
A41=0.33

TN591−4N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,Y
F=A1(F3’/F3+F4’/F4) 

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

TN591−5N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,B
F=A1(F3’/F3+F4’/F4) 

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

TN591−6N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,R
F=A1(F3’/F3+F4’/F4) 

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

TN591−7N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,G
F=A1(F3’/F3+F4’/F4) 

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

TN591−8N_1

log ∆L  
∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A,Y
F=A1(F3’/F3+F4’/F4) 

A11=176.0
A21=−2.57
A31=1.0
A41=0.33
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TUB-test chart TN59; threshold data Avramopolos (89)
 630cd/m2

input: w/rgb/cmyk −> w/rgb/cmyk−
output: no change compared

http://130.149.60.45/~farbmetrik/TN59/TN59L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/9

see sim
ilar files: http://130.149.60.45/~

farbm
etrik/T

N
59/T

N
59.H

T
M

technical inform
ation: http://w

w
w

.ps.bam
.de or http://130.149.60.45/~

farbm
etrik

T
U

B
 registration: 20130201-T

N
59/T

N
59L0N

A
.T

X
T

 /.P
S

T
U

B
 m

aterial: code=
rha4ta

 application for m
easurem

ent of display output



 

  

  

 
TN590−7N

TN590−1N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A
F=A1(F3’/F3+F4’/F4) 

A11=136.1
A21=−1.66
A31=1.0
A41=0.33

TN590−2N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

PO 0,1s A
F=A1(F3’/F3+F4’/F4) 

A11=144.6
A21=−1.54
A31=1.0
A41=0.33

TN590−3N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

BM 0,1s A
F=A1(F3’/F3+F4’/F4) 

A11=153.39
A21=−1.63
A31=1.0
A41=0.33

TN590−4N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A
F=A1(F3’/F3+F4’/F4) 

A11=159.2
A21=−1.73
A31=1.0
A41=0.33

TN590−5N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s Y
F=A1(F3’/F3+F4’/F4) 

A11=129.2
A21=−1.61
A31=1.0
A41=0.33

TN590−6N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s Y
F=A1(F3’/F3+F4’/F4) 

A11=150.7
A21=−1.61
A31=1.0
A41=0.33

TN590−7N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

PO 0,1s B
F=A1(F3’/F3+F4’/F4) 

A11=74.79
A21=−1.21
A31=1.0
A41=0.33

TN590−8N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s B
F=A1(F3’/F3+F4’/F4) 

A11=49.47
A21=−1.14
A31=1.0
A41=0.33

TN591−1N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

BM 0,1s R
F=A1(F3’/F3+F4’/F4) 

A11=71.73
A21=−1.17
A31=1.0
A41=0.33

TN591−2N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s R
F=A1(F3’/F3+F4’/F4) 

A11=88.35
A21=−1.1
A31=1.0
A41=0.33

TN591−3N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s G
F=A1(F3’/F3+F4’/F4) 

A11=96.91
A21=−1.5
A31=1.0
A41=0.33

TN591−4N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,Y
F=A1(F3’/F3+F4’/F4) 

A11=159.2
A21=−1.73
A31=1.0
A41=0.33

TN591−5N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,B
F=A1(F3’/F3+F4’/F4) 

A11=159.2
A21=−1.73
A31=1.0
A41=0.33

TN591−6N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,R
F=A1(F3’/F3+F4’/F4) 

A11=159.2
A21=−1.73
A31=1.0
A41=0.33

TN591−7N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,G
F=A1(F3’/F3+F4’/F4) 

A11=159.2
A21=−1.73
A31=1.0
A41=0.33

TN591−8N_2

log ∆L  
∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A,Y
F=A1(F3’/F3+F4’/F4) 

A11=136.1
A21=−1.66
A31=1.0
A41=0.33
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TUB-test chart TN59; threshold data Avramopolos (89)
 63cd/m2

input: w/rgb/cmyk −> rgbd
output: no change compared

http://130.149.60.45/~farbmetrik/TN59/TN59L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 2/9

see sim
ilar files: http://130.149.60.45/~

farbm
etrik/T

N
59/T

N
59.H

T
M

technical inform
ation: http://w

w
w

.ps.bam
.de or http://130.149.60.45/~

farbm
etrik

T
U

B
 registration: 20130201-T

N
59/T

N
59L0N

A
.T

X
T

 /.P
S

T
U

B
 m

aterial: code=
rha4ta

 application for m
easurem

ent of display output, no separation



 

  

  

 
TN590−7N

TN590−1N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A
F=A1(F3’/F3+F4’/F4) 

A11=107.4
A21=−0.93
A31=1.0
A41=0.33

TN590−2N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

PO 0,1s A
F=A1(F3’/F3+F4’/F4) 

A11=115.5
A21=−0.87
A31=1.0
A41=0.33

TN590−3N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

BM 0,1s A
F=A1(F3’/F3+F4’/F4) 

A11=93.95
A21=−0.85
A31=1.0
A41=0.33

TN590−4N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A
F=A1(F3’/F3+F4’/F4) 

A11=106.9
A21=−0.99
A31=1.0
A41=0.33

TN590−5N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s Y
F=A1(F3’/F3+F4’/F4) 

A11=81.62
A21=−0.68
A31=1.0
A41=0.33

TN590−6N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s Y
F=A1(F3’/F3+F4’/F4) 

A11=95.23
A21=−0.86
A31=1.0
A41=0.33

TN590−7N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

PO 0,1s B
F=A1(F3’/F3+F4’/F4) 

A11=56.77
A21=−0.57
A31=1.0
A41=0.33

TN590−8N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s B
F=A1(F3’/F3+F4’/F4) 

A11=54.53
A21=−0.57
A31=1.0
A41=0.33

TN591−1N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

BM 0,1s R
F=A1(F3’/F3+F4’/F4) 

A11=112.1
A21=−0.96
A31=1.0
A41=0.33

TN591−2N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s R
F=A1(F3’/F3+F4’/F4) 

A11=74.67
A21=−0.64
A31=1.0
A41=0.33

TN591−3N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s G
F=A1(F3’/F3+F4’/F4) 

A11=76.43
A21=−0.64
A31=1.0
A41=0.33

TN591−4N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,Y
F=A1(F3’/F3+F4’/F4) 

A11=106.9
A21=−0.99
A31=1.0
A41=0.33

TN591−5N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,B
F=A1(F3’/F3+F4’/F4) 

A11=106.9
A21=−0.99
A31=1.0
A41=0.33

TN591−6N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,R
F=A1(F3’/F3+F4’/F4) 

A11=106.9
A21=−0.99
A31=1.0
A41=0.33

TN591−7N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,G
F=A1(F3’/F3+F4’/F4) 

A11=106.9
A21=−0.99
A31=1.0
A41=0.33

TN591−8N_3

log ∆L  
∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A,Y
F=A1(F3’/F3+F4’/F4) 

A11=107.4
A21=−0.93
A31=1.0
A41=0.33
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TUB-test chart TN59; threshold data Avramopolos (89)
 6,3cd/m2

input: w/rgb/cmyk −> rgbd
output: no change compared

http://130.149.60.45/~farbmetrik/TN59/TN59L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 3/9

see sim
ilar files: http://130.149.60.45/~

farbm
etrik/T

N
59/T

N
59.H

T
M

technical inform
ation: http://w

w
w

.ps.bam
.de or http://130.149.60.45/~

farbm
etrik
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B
 registration: 20130201-T

N
59/T
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B
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aterial: code=
rha4ta
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ent of display output, no separation



 

  

  

 
TN590−7N

TN590−1N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=176.0
A21=−2.57
A31=1.0
A41=0.33

TN590−2N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

PO 0,1s A
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=170.9
A21=−2.49
A31=1.0
A41=0.33

TN590−3N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

BM 0,1s A
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=194.0
A21=−2.67
A31=1.0
A41=0.33

TN590−4N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

TN590−5N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s Y
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=139.8
A21=−2.36
A31=1.0
A41=0.33

TN590−6N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s Y
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=177.9
A21=−2.46
A31=1.0
A41=0.33

TN590−7N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

PO 0,1s B
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=112.8
A21=−2.05
A31=1.0
A41=0.33

TN590−8N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s B
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=50.05
A21=−1.85
A31=1.0
A41=0.33

TN591−1N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

BM 0,1s R
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=106.8
A21=−1.94
A31=1.0
A41=0.33

TN591−2N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s R
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=111.5
A21=−1.84
A31=1.0
A41=0.33

TN591−3N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s G
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=68.25
A21=−2.15
A31=1.0
A41=0.33

TN591−4N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,Y
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

A12=177.9
A22=−2.46
A32=1.0
A42=0.33

TN591−5N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,B
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

A12=50.05
A22=−1.85
A32=1.0
A42=0.33

TN591−6N_4

log L/∆L  Lg=630cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,R
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

A12=111.5
A22=−1.84
A32=1.0
A42=0.33

TN591−7N_4

log L/∆L  Lg=630cd/m2
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−2

−1
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  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,G
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

A12=68.25
A22=−2.15
A32=1.0
A42=0.33

TN591−8N_4

log L/∆L  Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A,Y
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=176.0
A21=−2.57
A31=1.0
A41=0.33

A12=139.8
A22=−2.36
A32=1.0
A42=0.33
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TUB-test chart TN59; threshold data Avramopolos (89)
 630cd/m2

input: w/rgb/cmyk −> rgbd
output: no change compared

http://130.149.60.45/~farbmetrik/TN59/TN59L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 4/9

see sim
ilar files: http://130.149.60.45/~

farbm
etrik/T

N
59/T

N
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M
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.de or http://130.149.60.45/~

farbm
etrik
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B
 registration: 20130201-T
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ent of display output, no separation



 

  

  

 
TN590−7N

TN590−1N_5

log L/∆L  Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=136.1
A21=−1.66
A31=1.0
A41=0.33

TN590−2N_5

log L/∆L  Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

PO 0,1s A
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=144.6
A21=−1.54
A31=1.0
A41=0.33

TN590−3N_5

log L/∆L  Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

BM 0,1s A
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=153.39
A21=−1.63
A31=1.0
A41=0.33

TN590−4N_5

log L/∆L  Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=159.2
A21=−1.73
A31=1.0
A41=0.33

TN590−5N_5

log L/∆L  Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s Y
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=129.2
A21=−1.61
A31=1.0
A41=0.33

TN590−6N_5

log L/∆L  Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1
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  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s Y
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=150.7
A21=−1.61
A31=1.0
A41=0.33

TN590−7N_5

log L/∆L  Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

PO 0,1s B
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=74.79
A21=−1.21
A31=1.0
A41=0.33

TN590−8N_5

log L/∆L  Lg=63cd/m2
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−2

−1

  0
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  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s B
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=49.47
A21=−1.14
A31=1.0
A41=0.33

TN591−1N_5

log L/∆L  Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

BM 0,1s R
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=71.73
A21=−1.17
A31=1.0
A41=0.33

TN591−2N_5

log L/∆L  Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s R
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=88.35
A21=−1.1
A31=1.0
A41=0.33

TN591−3N_5

log L/∆L  Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s G
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=96.91
A21=−1.5
A31=1.0
A41=0.33

TN591−4N_5

log L/∆L  Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,Y
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=159.2
A21=−1.73
A31=1.0
A41=0.33

A12=150.7
A22=−1.61
A32=1.0
A42=0.33

TN591−5N_5

log L/∆L  Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1
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  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,B
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=159.2
A21=−1.73
A31=1.0
A41=0.33

A12=49.47
A22=−1.14
A32=1.0
A42=0.33

TN591−6N_5

log L/∆L  Lg=63cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,R
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=159.2
A21=−1.73
A31=1.0
A41=0.33

A12=88.35
A22=−1.1
A32=1.0
A42=0.33

TN591−7N_5

log L/∆L  Lg=63cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,G
F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=159.2
A21=−1.73
A31=1.0
A41=0.33

A12=96.91
A22=−1.5
A32=1.0
A42=0.33

TN591−8N_5

log L/∆L  Lg=63cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
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